WEIEERB R BB ES

% # s - BRHE s E i & & W E
BRI 7,268,300 + 155, 271 7,423, 571
EEAGHE 7,268, 300
EERE 155, 271
Z Ot [ 1 7,268,300 x 53.85% ( 35% + (1 — 35%) ) 3,913,979
KB RE 7,423,571 + 3,913,979 11, 337, 550
—REEERE 11,337,550 x 53.85% ( 35% + (1 — 35%) ) — 2,820 6,102, 450
EX T 11,337,550 + 6,102, 450 17, 440, 000
HETEELE 17,440,000 x 10.00% 1,744, 000
¥BERAH 17,440,000 + 1,744, 000 19, 184, 000




BEARE

WEIEERB R BB ES

% [ BA& - AR B g fiti £ i) " =
E#E R 7,423,571
WEEREEBHIRBRHER 7,423,571
BiEHDRRHES 7,423,571
BiEmRREARE 7,268, 300
FIEE 433, 500
1 FHE#RE 1.00 433,500 433, 500
=
EMRERE 270, 700
2 EYEEEE 1.00 270, 700 2170, 700
BB (5—X)
frafa I K B 2170, 700
3 MR AR R 1.00 270, 700 270, 700
BB (5y—X)
E7VVIHE 4,336, 800
4 REERB OEFMRE 6.00 306, 700 1, 840, 200
®E (5y—X)
5 7YV TRED 3.00 160, 200 480, 600
L
6 E7YUITREQ 3.00 160, 200 480, 600
T
TET7YVTRERROER 6.00 255, 900 1,535, 400
®E (5y—X)
BERARMMEIN 1,061, 700




BEARE

WEIEERB R BB ES

% [ R - BT E B g {if i) " =
8 BERXNMENT 3.00 353, 900 1,061, 700
®E (5y—X)

E 441, 200

9 EAETHE 1.00 121, 800 121, 800
=]

10 HhfE#RE 1.00 121, 800 121, 800
=l

1 &RRI|E 1.00 197, 600 197, 600
=]

BEY 453, 700

12 FHBTERRHEER 1.00 453, 700 453,700
=

EERE 155, 271

EHARE 68, 271

13 =HAME 1.00 68, 271 68, 271
=

EBRERE 87,000

14 EHERERE 1.00 87,000 87,000
=




Rt R - T/ \wr—o

WEEEERBHRBRHES

&5 1
2 FrEERE 1zt Yy
2 [ g - BRKTE BAGL = B {f %5 5 &
HEn&
A 1.00 75, 800. 00 75, 800
EXEE: T HEH))
A 1.50 64, 800. 00 97,200
AR (A)
A 2.50 57, 000. 00 142, 500
HEm (B)
A 2.50 47, 200. 00 118, 000
& B YE¥REH : 1.00 433, 500. 00 433, 500
=5:2
&% EYMEEEE 1B (5—R) &y
£ b R - BRRTE BARL 2 B % i &
AR (A)
A 1.50 57, 000. 00 85, 500
HEm (B)
A 2.50 47, 200. 00 118, 000
Hittg
A 2.00 33, 600. 00 67, 200
& R fE¥8eH : 1.00lH (y—X) 270, 700. 00 270,700
5:3
& MR AR R R 1B (5F—X) &Y
2 L g - BRKTE BAGL = B {f £ 5 &
HEm (A)
A 1.50 57, 000. 00 85, 500
HEm (B)
A 2.50 47, 200. 00 118, 000
BT &
A 2.00 33, 600. 00 67,200
& B {E¥8:H :1.000EB (5—R) 270, 700. 00 270, 700




RER-TET/ Svr— WEESBBEDRBRTES

EE 4
&% AEEE OERIRE 1B (#¥—X) &Y
4 b LI 2 NS Bf H B B O ® & = 5 &
e TG HY
A 1.50 64, 800. 00 97,200
A (A)
A 1.50 57, 000. 00 85, 500
BER (B)
A 1.00 47, 200. 00 47, 200
HEm (C)
A 2.00 38, 400. 00 76, 800
& it E¥8eh - 1.00IBR (5F—R) 306, 700. 00 306, 700
E#E:5
&M EF7IYUITRAED ERER)
4 b LI 2 NS Bf H B B O ® & = 5 &
e TG HY
A 1.00 64, 800. 00 64, 800
A (A)
A 1.00 57, 000. 00 57, 000
BER (C)
A 1.00 38, 400. 00 38, 400
A it YEZRES - 1. 00 160, 200. 00 160, 200
&S :6
&M E7UVITRABQ ERED)
4 5 R - BRTR AL H B B * # = 5 &
EXEETHEH))
A 1.00 64, 800. 00 64, 800
BER (A)
A 1.00 57, 000. 00 57,000
HEm (C)
A 1.00 38, 400. 00 38, 400
& it YE28EH - 1. 008 AR 160, 200. 00 160, 200




RER-TET/ Svr— WEESBBEDRBRTES

&5 :1
M ETIVUVRABRENER 1B (5F—X) &Y
4 b g - BRKTE BAGL H = B & # IS 5 &
EXEE: T HEH))
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.50 57, 000. 00 85, 500
HEm (C)
A 1.00 38, 400. 00 38, 400
Hittg
A 2.00 33, 600. 00 67,200
& R YE¥£8eH : 1.00lBH (y—X) 255, 900. 00 255,900
&5 :8
&% BRAXPMRI 18R (5F—R) %Y
4 b g - BRKTE BAGL H = B & # W = 5 &
F{EHED BRED)
A 1.50 64, 800. 00 97, 200
HEm (A)
A 1.50 57, 000. 00 85, 500
HEm (B)
A 2.00 47, 200. 00 94, 400
HEm (C)
A 2.00 38, 400. 00 76, 800
& it {E¥8:H :1.000EB (5—R) 353, 900. 00 353, 900
&5 :9
&% . BHiHE 1EH Y
% E R - BRTE B #H =2 B € & = i &
F T HED BRED)
A 1.00 64, 800. 00 64, 800
HEm (A)
A 1.00 57, 000. 00 57,000
& it YEZEEH - 1.00[E=] 121, 800. 00 121, 800




Rt R - T/ \wr—o

WEEEERBHRBRHES

H5:10
ZF : hEHRE 1EHY
4 g R - KT By 2 B i £ 5 &=
F AR GRED
A 1.00 64, 800. 00 64, 800
AR (A)
A 1.00 57, 000. 00 57,000
= &t YEZ8EH : 1.00[H 121, 800. 00 121, 800
B#5: 1
2 RE®RE HEEY
4 g R - KT By 2 B i £ 5 &=
HEm&
A 1.00 75, 800. 00 75, 800
F{EHAm (B&ED
A 1.00 64, 800. 00 64, 800
HER (A)
A 1.00 57, 000. 00 57,000
& H YEZHRES : 1.00[H 197, 600. 00 197, 600
H5:12
B EBETHREEER X4y
2 Eu A - kTiE By = ] el i &
F{EHAm (B&ED
A 1.50 64, 800. 00 97, 200
HER (A)
A 2.50 57, 000. 00 142, 500
AR (B)
A 2.50 47, 200. 00 118, 000
HEm (C)
A 2.50 38, 400. 00 96, 000
& H YE¥REH : 1.00 453, 700. 00 453, 700




RER-TET/ Svr— WEESBBEDRBRTES

S 13
2% EBERARE 1X5Y
4 L R - KT By 8 = B i & %8 W = 5 &=
EHERRE
= 1.00 68,271.00 68, 271
& H YE¥REH : 1.00 68,271.00 68, 271
H5: 14
&% EBHRRE 1Y
% L R - kTiE B H = B {f & el = i &
(B RRE
= 1.00 87, 000. 00 87,000
= &t YEEBEH : 1.00 87, 000. 00 87,000




